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sin(a + 8) = sina cos f + cosa sin
cos(a + B) = cosacosf —sinasinf
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sin(45° + 30°) = sin45° cos 30° + cos45°sin 30° = E X ﬁ + E ><1 = Yo+
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(1) cos75°
(2) cos15°

(3) sin105°
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(1) sin26 = 2sin6 cos O

(2) sin(90° + @) = cos 6

(3) cos20 =2cos?6—1
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sin(a + B) + sin(a — B)
= sina cos B + cos asin B + {sin a cos(—B) + cos asin(—p)}
= sina cos B + cosasin B + (sina cos B — cos asin B)
= 2sinacosf3

sin(a + B) — sin(a — B)
= sina cos B + cos asin B — {sin a cos(—B) + cos asin(—p)}
= sina cos B + cosasin 3 — (sina cos  — cos asin B)
= 2 cosasinf3

cos(a + B) + cos(a — B)
= cos a cos B — sin asin B + {cos a cos(—B) — sin a sin(—B)}
= cosacos 3 —sinasinf + cosacosff + sinasin 3
= 2cosacosf3

cos(a + B) — cos(a — B)
= cos acos B —sinasin B — {cos a cos(—B) — sin a sin(—B)}

= cosacos 3 —sinasin — (cos acos 3 + sin asin B)

= —2sinasinf3
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(1) cos15° — cos 75°

(2) cos45°sin75°

(3) sin75°cos15°



